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Note : All questions are compulsory and carry equal 

weightage. 

1. Answer the following question in about 
600 words : 
Discuss the concept of learning from the 
perspectives of behaviourism, cognitivism and 
constructivism. 

OR 
Discuss the importance of study habits in learners' 
academic achievement. Which are the study 
habits you would like to promote among the 
learners ? Why ? 

2. Answer the following question in about 
600 words : 
Explain the meaning of a school environment. 
Write a critical appreciation of the environment 
of the elementary school you attended. 

OR 
Explain the concept of school curriculum. 
Elaborate on the considerations that determine the 
direction of the school curriculum. 
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3. 	Answer any four of the following questions in 
about 150 words each : 

(a) Explain with example, the process of 
accommodation in cognitive development. 

. (b) Why is it important to assess students' 
learning ? Highlight any two issues you are 
concerned with while assessing your 
students' learning. 

(c) Explain the role of self concept in mediating 
the process of learning. 

(d) Working - Class language is inappropriate 
for learning in schools. Explain. 

(e) Explain the role of reasoning in cognitive 
learning. 

(f) How does affective learning facilitate social 
adjustment ? Give examples. 

	

4. 	Answer the following question in about 
600 words 

Discuss the attributes of the learning climate of a 
constructivist classroom environment. Choose a 
topic and illustrate the teaching-learning activities 
you would organise to create a learning climate 
with these attributes for your learners. 
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